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.) Write each answer on a new page.
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Q.1.

nomy Level mapping

COs. BTL#

lncome 76 57 140 97 75 1,07 65 77 102 53
Contribution 15 4 42 33 5 32 10 18 2B 4

a) With income as an inclependent variable and charitable
contributions as a dependent variable compute SSr, SSr, and
SS,,

b) Find the regression of charitabre contribution on income.c) Briefly explain the values of a clnd. b
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Phone is working and 0.4 0.01
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the number is

i nco rrect
Phone is not working

and the number is

co rrect

0.1 1.

Phone is not working
and the number is

i ncorrect

0.1 1.

Posterior probabilities of all hypotheses
Probability of phone working
Probability of phone working given busy signal is coming

a)

b)

c)

posterior probability is given by the relation posterior x
prLor x
lf the values near extremes are more probable, then the beta
function which works well as a prior is f (_,_)
When you have lot of data, the results are more/less sensitive to
the choice of prior.
Define cred ible interva I

A term used to describe the case when the independent variables
in a multiple regression model are correlated is i) regression ii)
correlation iii) multicollinearity iv) none
A multiple regression model has the form y = 2 * 3x1l 4xr. As x.,
increases by 1 unit (holding.rz constant)y will i) increase by 3 units
ii) decrease by three units iii) increase by 4 units ivO decrease by
4 units.
The correct relationship between SSR, SST and SSE is given by i)
SSR=SST+SSE ii) SST=SSR + SSE iii) SSE=SSR-SST iv) None of
these

which of the following is correct regarding the value of adjusted R2
in multiple regression model? i) tt can be negative ii) tt is
positive iii) lt is larger than the coefficient of determination iv)
None of these
How many dummy variables should be there in a model for a

categorical variable with 3 levels?
Heteroskedasticity refers to a situation in which the error terms
form a regression analysis for equal/unequalvariances.
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